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Patient ID = PO5H
Biomarker = Percentage of Neutrophils
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Patient ID = PO7H
Biomarker = Percentage of Neutrophils
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Patient ID = PO8H

Biomarker = Percentage of Neutrophils
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Patient ID = PO9H
Biomarker = Percentage of Neutrophils
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Patient ID = P11H
Biomarker = Percentage of Neutrophils

—/ D.lbﬂl.00.'ﬂOICOO'ﬂOﬁ.OCC.DO‘.OOC.DOI.Q.. e ® v060
L]

I I I I I I I I
-60 -50 -40 -30 -20 -10 0 10

Start position of window ( window size = 10)



Relative change

Patient ID = P12H
Biomarker = Percentage of Neutrophils
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Patient ID = P13H
Biomarker = Percentage of Neutrophils
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Relative change

Patient ID = P14H
Biomarker = Percentage of Neutrophils
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Patient ID = P15H
Biomarker = Percentage of Neutrophils
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